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5 326.89 | 145.50 | 861.20
10 229.34 | 91.09 | 639.13
15 194.89 | 72.76 | 551.71
25 164.67 | 57.96 | 461.37
40 145.20 | 49.83 | 387.39
60 134.51 | 46.39 | 333.69
70 132.68 | 46.12 | 319.69
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5 6. 98 .11 | 8.22

10 4.90 0.79 | 6.25

15 4.12 0.68 | 5.45

25 3.37 0.56 | 4.54

40 2.78 0.47 | 3.61

60 2. 32 0.39 | 2.58

70 2. 16 0.34 | 2.10

FEPE o — g pa g * 40 km/hr 0 3

@ o 70 km/hr o

ﬁiﬁﬂiFkﬁﬁP%ﬁ-ﬂﬁmﬂféﬁ R3 B avck > RP AR (R T
ﬂ%t{ﬂ I‘\‘/ﬁ}a ﬂ_ﬁ.ﬁ,’
Jf)kﬁmkm(:(bi NOSE: J 8 = > 25

1%34§§qg e
Rl A £

VAR TR R A



../Cost–benefit%20analysis.html

